
MATH 2850 Solution to Quiz #7

1.
∫ 1

0

∫ 1

y2 y3 cos(3x3)dxdy

Solution. Let D = {(x, y)|y2 ≤ x ≤ 1, 0 ≤ y ≤ 1}. Since y2 ≤ x and 0 ≤ y ,
we have 0 ≤ y ≤

√
x. Since y2 ≤ x ≤ 1 and 0 ≤ y, we have 0 ≤ x ≤ 1. So

D is the same as {(x, y)|0 ≤ x ≤ 1, 0 ≤ y ≤
√

x}.

We have
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y2 y3 cos(3x3)dxdy =
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y3 cos(3x3)dydx =
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4
cos(3x3)dx = sin(3x3)
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|10 = sin(3)
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2.
∫ 1

0

∫ 1

y
ex2

dxdy.

Solution. Let D = {(x, y)|y ≤ x ≤ 1, 0 ≤ y ≤ 1} Since y ≤ x ≤ 1 and 0 ≤ y,
we have 0 ≤ y ≤ x. Since y ≤ x ≤ 1 and 0 ≤ y, we have 0 ≤ x ≤ 1.

So D is the same as {(x, y)|0 ≤ x ≤ 1, 0 ≤ y ≤ x}.
We have
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0

∫ 1
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dxdy =
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∫ x

0
ex2

dydx =
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0
yey2|x0dx =
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xdx == ex2
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